
Four Japanese kids, with different fighting experiences (from white to green belts), and coming from different prefectures

("Japanese counties"), enlisted to a martial arts tournament. Who is the youngest?

1. Only the 13-year-old kid has the same initial in his name

and color of the belt.

2. Only the orange belt owner has the same initial in his

name and in the prefecture he is from.

3. Nobody has the same initial in the color of his belt and in

the prefecture he is from.

4. Osamu is 1 year older than the kid from Yamaguchi.

5. Yuki's belt is 1 degree lower than Osamu's one.

6. Genjo's belt is 1 degree higher than the belt of the kid from

Wakayama.

7. The kid from Gunma is 1 year older than the green belt kid.

8. If the white belt kid is from Gunma, then Yuki is 11.
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Four Japanese kids, with different fighting experiences (from white to green belts), and coming from different prefectures

("Japanese counties"), enlisted to a martial arts tournament. Who is the youngest?

1. Only the 13-year-old kid has the same initial in his name

and color of the belt.

2. Only the orange belt owner has the same initial in his

name and in the prefecture he is from.

3. Nobody has the same initial in the color of his belt and in

the prefecture he is from.

4. Osamu is 1 year older than the kid from Yamaguchi.

5. Yuki's belt is 1 degree lower than Osamu's one.

6. Genjo's belt is 1 degree higher than the belt of the kid from

Wakayama.

7. The kid from Gunma is 1 year older than the green belt kid.

8. If the white belt kid is from Gunma, then Yuki is 11.
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